THE ENERGY SOLUTION
The greatest engineering and economic system
in human history

“Our financial services and investntent banking division will exceed current world markets.’

e It solves the end of oil
It is a direct replacement for portable

motor fuel without any pollution
Instead of costing trillions it makes

trillions
It cleans, the air, water and soil

It produces unlimited energy cheaper

than coal with no carbon footprint

It renders all the waste in the world

infinitely recyclable with no pollution at
virtually no cost including Rare-Earth

elements
"It brings 3 billion people out of extreme

poverty
It allows us to have a robust,

functioning economy while being
responsible stewards of the Earth

VIABLE ZERO CARBON ENERGY
AND

Alpha Barrier Material Science Technology
Lighting a path to the future
Cheaper than coal with no carbon footprint
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- The Energy Solution
Making Perfect Sense
By TWS

The world is looking for a solution to the end of oil. | have it. Bill Gates once said that if he had a
superpower it would be the ability to create a source of energy cheaper than coal with no
carbon footprint. Through cumulative knowledge, applied science, and willful determination, |

have created a visionary solution.
This is a practical, technically sound, economically viable solution, to break the strangle hold of
fossil fuel. It is a complete system that will produce enough energy to replace oil, coal, natural

g gas, and virtually all carbon based fuel. This system is almost 100 times cheaper than coal, over
=3 160 times cheaper than natural gas, and 296 times cheaper than oil and will stimulate the
(¢

world’s economies for decades. THIS WILL MAKE MORE MONEY THAN THE
INDUSTRIAL REVOLUTION and it will reduce the giga-tons of greenhouse gas
emissions we currently produce a year to zero.

The result is clean, cheap, virtually unlimited, sustainable, renewable power with zero pollution.

We don’t have to replace existing buildings. We don’t have to give up internal combustion
engines. We don’t have to give up airplanes. We don’t have to give up cows. We don’t have to

wait decades for a solution. This is what the world has been waiting for.

In order to solve the fossil fuel problem you have to understand the scale of the problem. We

currently consume about 100 million barrels of oil a day and when you include all forms of fossil
on Btu of energy. In order to replace 500 quadrillion Btu

fuel you start to approach 500 quad
of fossil fuel energy you have to produce 500 quadrillion Btu of replacement energy.

The reason this works is because it is a complete system.

When Edison invented the light bulb, he stood in a lab with a light bulb in his hand. Not one
single person in the world needed a light bulb because there was no place to screw one in.
There were no lamps, no outlets, no electric cords, no electric meters, no generators sending

1880s, he patented a system for electricity distribution. The company established the fi
investor-owned electric utility in 1882 on Pearl Street Station, New York City. Qu
1882, Edison switched on his Pearl Street generating station's electrical f
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These structures presented some of the greatest engineering and economic challenges
Where does this new energy come from?
n shines on the surface of the Earth with more energy than is consumed by
earth’s surface is covered with water. The
ater. The warm water rises to the surface.

ater falls down causing convection. When
ean floor they form a system of

imaginable. Like:

Each hour the su

all of mankind in a year. More than 70% of the
sunshine — (thermal energy) — heats up the w.
Migrates to the poles where it cools. The Colder w
these cold heavy currents encounter the topography of the oc:
currents called the “oceanic auger system” which circumnavigates the globe. These huge
underwater rivers contain unimaginable amounts of kinetic energy — power. More than enough
power to power the entire world many times over; that power from the sun is what we have
figured out how to harness and convert to portable motor fuel.

The edge of each continent has a continental shelf that extends an average of about 200 miles out. The
average depth at the edge is about 600 ft. Then there is a precipitous drop called the abyssal drop that
goes down an average of 10 000 ft. to the edge of the ocean floor called the abyssal plane. This abyssal
wall skirts the edge of the continents. It forms a solid barrier. When the convection currents encounter

this barrier they follow it.

-y
d when a mountain range is appropriately

The ocean floor has mountains just like the surface an
positioned close to the abyssal drop they form compression zones. These compression zones cause the
elerate to speeds between 5 and 10 knots. (about 5— 10 mph) 1 Knot = 1.15 mph
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